| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

Q= L~
€ “E
RS 2
> o N
o X ~ O
— © x
3 g
o —
— © 5 mﬂ
0 g
2
IS) £ o
2
i H
2 o
o E —
= [ |
0 e
s
— 2 o
S 5 D
=
S
] 8 o
N 2 1ol
) & 3 |
c 5 H 5
syoes aredydnp M z| syoen ayeoydnp diey
0 _ o
N o =
£ £
RS =
> o N
g =]
'~ x
% g
S8 o =
had —
0
o o
el
! =}
o —
‘ﬂ. I
o
bl o
1 INd
o )
o
Lo o
3 SN £
3 2 3
SN ) M
0 _ D~
~E “E
HR e A
> o N
o X =]
ik =i e} x
3 g
Jo M
=8 |u o =
s |8 =1
-{wo g
£
| Jo 8 o
[ =
3> o £
7] o
e o ° =
WW =1 = I
ha b |
s = 1 =y I
0 o E 1
) B
c < It} @ i i i o
al.l PEPETEE TR (TTTE IS 1T
oo~ AN 8 e e ~ P
50 3 K] S S S 3
syoeu aniyy (:] z| syoen Shi
- L
o ©
sis}
s}
=i}
=i}
B8 o
3 —_ -
& £ e
=gl lR S N
> N
BS < Lo
> - he] x
I X [=)
= . 5] ©
oo © o =
afaf =

0

-20 -10

0

syoen

05 =50-15-10 -5 0 5 10 15 20 25

<
o

syoen

N of reco track vs dz

5
=3



	Contents
	Page 1


